

## PERTURBATION BOUNDS FOR CERTAIN OPERATOR FUNCTIONS

JASPAL SINGH AUJLA

(communicated by B. Mond)

*Abstract.* Some inequalities for norms and spectral radius involving operator monotone functions have been obtained. Lieb's concavity for trace of certain function has also been considered in general form.

### 1. Introduction

In what follows,  $\mathbf{H}$  denotes a finite dimensional Hilbert space.  $\mathcal{L}(\mathbf{H})$  is the space of bounded linear operators on  $\mathbf{H}$ , while  $\mathcal{L}_+(\mathbf{H})$  is the cone of positive semidefinite operators on  $\mathbf{H}$  and  $\mathcal{P}(\mathbf{H})$  is the cone of positive operators on  $\mathbf{H}$ . Let  $I, J$  be intervals in  $\mathbf{R}$ .  $\mathcal{S}_I(\mathbf{H})$  will denote the set of all selfadjoint operators in  $\mathcal{L}(\mathbf{H})$  whose spectrum is contained in  $I$ . For an operator  $A \in \mathcal{L}(\mathbf{H})$ ,  $\text{spec}(A)$  denotes the spectrum of  $A$ . The trace of an  $A \in \mathcal{L}(\mathbf{H})$  is denoted by  $\text{tr}(A)$ . A real valued function  $f$  defined on an interval  $I$  is called operator monotone on  $I$  if for  $A, B \in \mathcal{S}_I(\mathbf{H})$  with  $A \geq B$ , we have  $f(A) \geq f(B)$ , where  $f(A)$  is defined by familiar functional calculus. A real valued function  $f$  defined on an interval  $I$  is called operator concave on  $I$  if

$$f(\lambda A + (1 - \lambda)B) \geq \lambda f(A) + (1 - \lambda)f(B)$$

for all  $A, B \in \mathcal{S}_I(\mathbf{H})$  and  $0 \leq \lambda \leq 1$ . A function  $f$  on  $I$  is called submultiplicative (respectively supermultiplicative) if for all  $x, y \in I$

$$f(xy) \leq f(x)f(y) \quad (\text{respectively } f(xy) \geq f(x)f(y))$$

whenever  $xy \in I$ . In Section 2, we shall obtain some inequalities for spectral radius involving operator monotone functions. A general class of functions which contains operator monotone functions is also considered in this section. Some inequalities for norms for functions in this class have been proved. In Section 3, we consider Lieb's concavity theorem in general form.

---

*Mathematics subject classification* (2000): 47A30, 47B15, 15A60.

*Key words and phrases:* Positive operator, operator monotone function, unitarily invariant norm.

## 2. Inequalities for Spectral Radius and Norms

The spectral radius for an  $A \in \mathcal{L}(\mathbf{H})$ , is denoted by  $\text{spr}(A)$  and is defined by

$$\text{spr}(A) = \sup\{|\lambda| : \lambda \in \text{spec}(A)\}.$$

If  $A$  is normal, i.e.,  $AA^* = A^*A$  then  $\text{spr}(A) = \|A\|$ , where  $\|\cdot\|$  is the operator norm on  $\mathcal{L}(\mathbf{H})$ . A norm  $\|\cdot\|$  on  $\mathcal{L}(\mathbf{H})$  is called symmetric, or unitarily invariant, if  $\|A\| = \|UAV\|$  for all  $A \in \mathcal{L}(\mathbf{H})$  and all unitary operators  $U, V \in \mathcal{L}(\mathbf{H})$ . The operator (spectral) norm  $\|\cdot\|$  on  $\mathcal{L}(\mathbf{H})$  is such a norm. In [5,8], it is proved that for  $A, B \in \mathcal{P}(\mathbf{H})$ ,

$$\text{spr}(A^s B^s) \leq (\text{spr}(AB))^s \quad (1)$$

and

$$\|A^s B^s\| \leq \|AB\|^s \quad (2)$$

for all  $0 \leq s \leq 1$ . The function  $f(x) = x^s$ ,  $0 \leq s \leq 1$  is operator monotone on  $(0, \infty)$ . Thus one might conjecture that for all  $A, B \in \mathcal{P}(\mathbf{H})$  and for all positive operator monotone functions  $f$  on  $(0, \infty)$

$$\text{spr}(f(A)f(B)) \leq f(\text{spr}(AB)) \quad (3)$$

and

$$\|f(A)f(B)\| \leq f(\|AB\|). \quad (4)$$

However, this fails. Observe that if either of the inequalities (3) or (4) is to hold, then the function  $f$  must be supermultiplicative. Since an operator monotone function need not be supermultiplicative, the inequalities (3) or (4) need not be true for an operator monotone function in general. In this section, we shall prove suitable generalizations of inequalities (1) and (2).

**THEOREM 2.1.** *Let  $f$  be a positive operator monotone function on  $I = (0, \infty)$ . Let  $A, B \in \mathcal{P}(\mathbf{H})$  and  $\text{spr}(AB) \leq 1$ . Then*

$$\text{spr}(f(A)(f(B^{-1}))^{-1}) \leq 1.$$

*Proof.*

$$\begin{aligned} \text{spr}(AB) \leq 1 &\implies \text{spr}(B^{1/2}AB^{1/2}) \leq 1 \\ &\implies B^{1/2}AB^{1/2} \leq I \\ &\implies A \leq B^{-1} \\ &\implies f(A) \leq f(B^{-1}) \\ &\implies (f(B^{-1}))^{-1/2}f(A)(f(B^{-1}))^{-1/2} \leq I \\ &\implies \text{spr}\{(f(B^{-1}))^{-1/2}f(A)(f(B^{-1}))^{-1/2}\} \leq 1 \\ &\implies \text{spr}(f(A)(f(B^{-1}))^{-1}) \leq 1. \end{aligned}$$

**THEOREM 2.2.** *Let  $f$  be a positive operator monotone function on  $I = (0, \infty)$  and let  $f$  be submultiplicative. Let  $A, B \in \mathcal{P}(\mathbf{H})$ . Then*

$$\operatorname{spr}(f(A)(f(B^{-1}))^{-1}) \leq f(\operatorname{spr}(AB)).$$

*Proof.* Let  $\operatorname{spr}(AB) = \alpha$ . Then  $\operatorname{spr}(\frac{A}{\alpha}B) = 1$ . Therefore, by Theorem 2.1,

$$\operatorname{spr}\left(f\left(\frac{A}{\alpha}\right)(f(B^{-1}))^{-1}\right) \leq 1.$$

Now

$$f(A) = f\left(\frac{A}{\alpha}\alpha\right) \leq f\left(\frac{A}{\alpha}\right)f(\alpha),$$

since  $f$  is submultiplicative. Consequently,

$$0 \leq (f(B^{-1}))^{-1/2} \frac{f(A)}{f(\alpha)} (f(B^{-1}))^{-1/2} \leq (f(B^{-1}))^{-1/2} f\left(\frac{A}{\alpha}\right) (f(B^{-1}))^{-1/2},$$

and hence

$$\operatorname{spr}\left\{(f(B^{-1}))^{-1/2} \frac{f(A)}{f(\alpha)} (f(B^{-1}))^{-1/2}\right\} \leq \operatorname{spr}\left\{(f(B^{-1}))^{-1/2} f\left(\frac{A}{\alpha}\right) (f(B^{-1}))^{-1/2}\right\}.$$

Thus

$$\begin{aligned} \operatorname{spr}(f(A)(f(B^{-1}))^{-1}) &= \operatorname{spr}(f(\alpha)(f(B^{-1}))^{-1/2} \frac{f(A)}{f(\alpha)} (f(B^{-1}))^{-1/2}) \\ &\leq \operatorname{spr}(f(\alpha)(f(B^{-1}))^{-1/2} f\left(\frac{A}{\alpha}\right) (f(B^{-1}))^{-1/2}) \\ &= \operatorname{spr}(f(\alpha)f\left(\frac{A}{\alpha}\right)(f(B^{-1}))^{-1}) \\ &\leq f(\alpha) = f(\operatorname{spr}(AB)). \end{aligned}$$

Next we consider a more general class of functions and prove some norm inequalities for functions in this class. Let  $I$  be an interval in  $\mathbf{R}$ . Consider the class of functions:

$$\mathcal{L}_I = \{f : I \rightarrow [0, \infty) \text{ such that } A, B \in \mathcal{S}_I(\mathbf{H}), A^2 \geq B^2 \text{ implies } (f(A))^2 \geq (f(B))^2\}.$$

The following lemma shows that the class  $\mathcal{L}_I$  is a positive convex cone.

**LEMMA 2.3.** *Let  $f, g \in \mathcal{L}_I$ . Then (i)  $\alpha f \in \mathcal{L}_I$  for all  $\alpha \geq 0$ . (ii)  $f + g \in \mathcal{L}_I$ .*

*Proof.* (i) Let  $A, B \in \mathcal{S}_I(\mathbf{H})$  be such that  $A^2 \geq B^2$ . Then  $(f(A))^2 \geq (f(B))^2$ , which implies,  $(\alpha f(A))^2 \geq (\alpha f(B))^2$ . Thus  $\alpha f \in \mathcal{L}_I$ .

(ii) Let  $A, B \in \mathcal{S}_I(\mathbf{H})$  and  $A^2 \geq B^2$ . Then  $(f(A))^2 \geq (f(B))^2$  and  $(g(A))^2 \geq (g(B))^2$ . Therefore

$$\begin{aligned} (f(A) + g(A))^2 &= (f(A))^2 + (g(A))^2 + 2f(A)g(A) \\ &\geq (f(B))^2 + (g(B))^2 + 2f(B)g(B) \\ &= (f(B) + g(B))^2 \end{aligned}$$

since  $f(A)g(A) \geq f(B)g(B)$  [see 3]. So  $f + g \in \mathcal{L}_I$ .

PROPOSITION 2.4. Let  $I = (0, \infty)$ . Then every positive operator monotone function on  $I$  is in  $\mathcal{L}_I$ .

*Proof.* Let  $f$  be a positive operator monotone function on  $I$ . Then by [11, Theorem 1],  $f$  admits the integral representation

$$f(x) = a + bx + \int_0^\infty \frac{x}{x+t} d\mu(t)$$

where  $a, b \geq 0$  and  $\mu$  is a finite positive measure on  $(0, \infty)$ . From Lemma 2.3 and the above integral representation it follows that we need only to prove that for each  $t > 0$ , the function  $f_t(x) = \frac{x}{x+t}$  is in  $\mathcal{L}_I$ . Let  $A, B \in \mathcal{P}(\mathbf{H})$  with  $A^2 \geq B^2$ . Then

$$\begin{aligned} (f_t(A))^2 \geq (f_t(B))^2 &\Leftrightarrow [A(A+tI)^{-1}]^2 \geq [B(B+tI)^{-1}]^2 \\ &\Leftrightarrow (I+tA^{-1})^{-2} \geq (I+tB^{-1})^{-2} \\ &\Leftrightarrow (I+tA^{-1})^2 \leq (I+tB^{-1})^2 \\ &\Leftrightarrow I+t^2A^{-2} + 2tA^{-1} \leq I+t^2B^{-2} + 2tB^{-1}. \end{aligned}$$

The last inequality is true. Thus  $f_t \in \mathcal{L}_I$ .

THEOREM 2.5. Let  $A, B \in \mathcal{P}(\mathbf{H})$ ,  $I = (0, \infty)$  and  $\|AB\| \leq 1$ . Then for all positive  $f \in \mathcal{L}_I$ ,

$$\|f(A)(f(B^{-1}))^{-1}\| \leq 1.$$

*Proof.*

$$\begin{aligned} \|AB\| \leq 1 &\implies \|BA^2B\| \leq 1 \\ &\implies BA^2B \leq I \\ &\implies A^2 \leq B^{-2} \\ &\implies (f(A))^2 \leq (f(B^{-1}))^2 \\ &\implies (f(B^{-1}))^{-1}(f(A))^2(f(B^{-1}))^{-1} \leq I \\ &\implies \|(f(B^{-1}))^{-1}(f(A))^2(f(B^{-1}))^{-1}\| \leq 1 \\ &\implies \|f(A)(f(B^{-1}))^{-1}\| \leq 1. \end{aligned}$$

THEOREM 2.6. Let  $A, B \in \mathcal{P}(\mathbf{H})$  and  $I = (0, \infty)$ . Then for all positive submultiplicative  $f \in \mathcal{L}_I$ ,

$$\|f(A)(f(B^{-1}))^{-1}\| \leq f(\|AB\|).$$

*Proof.* Let  $\|AB\| = \alpha$ . Then  $\|\frac{A}{\alpha}B\| = 1$ . Therefore, by Theorem 2.5,

$$\left\| f\left(\frac{A}{\alpha}\right)(f(B^{-1}))^{-1} \right\| \leq 1.$$

Now

$$f(A) = f\left(\frac{A}{\alpha}\alpha\right) \leq f\left(\frac{A}{\alpha}\right)f(\alpha),$$

since  $f$  is submultiplicative. Consequently,

$$(f(B^{-1}))^{-1} \left( \frac{f(A)}{f(\alpha)} \right)^2 (f(B^{-1}))^{-1} \leq (f(B^{-1}))^{-1} \left( f \left( \frac{A}{\alpha} \right) \right)^2 (f(B^{-1}))^{-1}.$$

Thus

$$\begin{aligned} \|f(A)(f(B^{-1}))^{-1}\|^2 &= \left\| (f(\alpha))^2 (f(B^{-1}))^{-1} \left( \frac{f(A)}{f(\alpha)} \right)^2 (f(B^{-1}))^{-1} \right\| \\ &\leq (f(\alpha))^2 \left\| (f(B^{-1}))^{-1} \left( f \left( \frac{A}{\alpha} \right) \right)^2 (f(B^{-1}))^{-1} \right\| \\ &= (f(\alpha))^2 \left\| f \left( \frac{A}{\alpha} \right) (f(B^{-1}))^{-1} \right\|^2 \\ &\leq (f(\alpha))^2 = (f(\|AB\|))^2. \end{aligned}$$

Hence

$$\|f(A)(f(B^{-1}))^{-1}\| \leq f(\|AB\|).$$

We prove our next result for all unitarily invariant norms. A basic property of unitarily invariant norms is that they are symmetric gauge functions of the singular values of the operator. For a positive semidefinite operator  $T$  its singular values are the same as its eigen values. Let  $T \in \mathcal{L}_+(\mathbf{H})$  and let its eigen values be enumerated as

$$\lambda_1(T) \geq \lambda_2(T) \geq \dots \geq \lambda_n(T).$$

Then the Ky Fan  $k$  – norms of  $T$  are defined as

$$\|T\|_k = \sum_{j=1}^k \lambda_j(T),$$

$$k = 1, 2, \dots, n.$$

LEMMA 2.7. Let  $x_1 \geq x_2 \geq \dots \geq x_n \geq 0$  and  $y_1 \geq y_2 \geq \dots \geq y_n \geq 0$  be such that  $\prod_{j=1}^k x_j \leq \prod_{j=1}^k y_j, k = 1, 2, \dots, n$ . Then  $\sum_{j=1}^k x_j \leq \sum_{j=1}^k y_j, k = 1, 2, \dots, n$ .

LEMMA 2.8. Let  $A, B \in \mathcal{L}_+(\mathbf{H})$ . Then  $\|A\| \leq \|B\|$  for all unitarily invariant norms  $\|\cdot\|$  if and only if  $\|A\|_k \leq \|B\|_k, k = 1, 2, \dots, n$ .

For a proof of the above lemmas, the reader is referred to [4, 9].

THEOREM 2.9. Let  $I = (0, \infty)$  and  $f \in \mathcal{L}_I$  be submultiplicative and positive. Then

$$\| (f(B^{-1}))^{-1} f(A) (f(B^{-1}))^{-1} \| \leq \| (f((BAB)^{1/2}))^2 \|$$

for all  $A, B \in \mathcal{P}(\mathbf{H})$ .

*Proof.* By Theorem 2.6, we have

$$\begin{aligned} \| (f(B^{-1}))^{-1} f(A) (f(B^{-1}))^{-1} \| &= \| [(f(A))^{1/2} (f(B^{-1}))^{-1}]^* [(f(A))^{1/2} (f(B^{-1}))^{-1}] \| \\ &= \| [(f(A))^{1/2} (f(B^{-1}))^{-1}] \|^2 \\ &\leq \| f(A^{1/2}) (f(B^{-1}))^{-1} \|^2 \\ &\leq (f(\|A^{1/2}B\|))^2 \\ &= (f(\|BAB\|^{1/2}))^2, \end{aligned}$$

that is,

$$\lambda_1((f(B^{-1}))^{-1}f(A)(f(B^{-1}))^{-1}) \leq (f((\lambda_1(BAB))^{1/2}))^2.$$

Replacing  $A$  and  $B$  by their antisymmetric tensor powers, we obtain for  $k = 1, 2, \dots, n$ ,

$$\prod_{j=1}^k \lambda_j((f(B^{-1}))^{-1}f(A)(f(B^{-1}))^{-1}) \leq \prod_{j=1}^k (f((\lambda_j(BAB))^{1/2}))^2.$$

By Lemma 2.7, this leads to

$$\sum_{j=1}^k \lambda_j((f(B^{-1}))^{-1}f(A)(f(B^{-1}))^{-1}) \leq \sum_{j=1}^k (f((\lambda_j(BAB))^{1/2}))^2,$$

$k = 1, 2, \dots, n$ . Thus

$$\|(f(B^{-1}))^{-1}f(A)(f(B^{-1}))^{-1}\|_k \leq \|(f((BAB)^{1/2}))^2\|_k$$

$k = 1, 2, \dots, n$ . Hence by Lemma 2.8,

$$\|(f(B^{-1}))^{-1}f(A)(f(B^{-1}))^{-1}\| \leq \|(f((BAB)^{1/2}))^2\|.$$

This completes the proof of the theorem.

The following corollary which is a special case of the above theorem when  $f(x) = x^r$ ,  $0 \leq r \leq 1$  is proved in [2].

**COROLLARY 2.10.** *Let  $A, B \in \mathcal{P}(\mathbf{H})$ . Then*

$$\| |B^r A^r B^r| \| \leq \| |(BAB)^r| \|,$$

for all  $0 \leq r \leq 1$ .

**REMARK 2.11.** Let  $I = (0, \infty)$ . Observe that a function  $f \in \mathcal{L}_I$  if and only if  $x \rightarrow (f(\sqrt{x}))^2$  is operator monotone on  $I$ . Consequently, if  $f \in \mathcal{L}_I$ , then  $x \rightarrow f(\sqrt{x})$  is operator monotone on  $I$ . Since the functions  $x \rightarrow \frac{x}{1+x}$  and  $x \rightarrow \log(1+x)$  are in  $\mathcal{L}_I$ . Therefore, the functions  $x \rightarrow (\frac{\sqrt{x}}{1+\sqrt{x}})^2$  and  $x \rightarrow (\log(1+\sqrt{x}))^2$  are operator monotone on  $I$  and hence by [3, Theorem 2.3], the function  $x \rightarrow \frac{\sqrt{x}}{1+\sqrt{x}} \log(1+\sqrt{x})$  is operator monotone on  $I$ . In this way one can obtain more examples of operator monotone functions and hence inequalities for spectral radius and norm for suitable functions.

**REMARK 2.12.** Let  $I = (0, \infty)$ . Let  $f$  be a positive supermultiplicative operator monotone function on  $I$ . Then  $x \rightarrow (f(x^{-1}))^{-1}$  is a submultiplicative operator monotone function on  $I$ . Since for a function  $h$  which depends upon the eigen values of an operator, we have  $h(AB) = h(BA)$  for  $A, B \in \mathcal{P}(\mathbf{H})$ . Consequently, we obtain

$$\text{spr}(f(A)(f(B^{-1}))^{-1}) \leq (f((\text{spr}(AB))^{-1}))^{-1}$$

and

$$\|f(A)(f(B^{-1}))^{-1}\| \leq (f(\|AB\|^{-1}))^{-1},$$

for  $A, B \in \mathcal{P}(\mathbf{H})$ .

### 3. Lieb's Concavity

The geometric mean # introduced by Pusz and Woronowicz [13] (see also [10]), for  $A, B \in \mathcal{P}(\mathbf{H})$  is defined as

$$A\#B = A^{1/2}(A^{-1/2}BA^{-1/2})^{1/2}A^{1/2}.$$

Thus if  $A$  commutes with  $B$ , then

$$A\#B = (AB)^{1/2}.$$

If  $A, B \in \mathcal{L}_+(\mathbf{H})$ , then the geometric mean is defined by continuity. The following results hold:

- (i)  $(\alpha A)\#(\alpha B) = \alpha(A\#B)$  for all  $\alpha \geq 0$ .
- (ii)  $(A + C)\#(B + D) \geq (A\#B) + (C\#D)$ .
- (iii)  $A \geq C, B \geq D \implies A\#B \geq C\#D$ .

A map  $\phi : \mathcal{S}_I(\mathbf{H}) \times \mathcal{S}_J(\mathbf{H}) \rightarrow \mathbf{R}$  is called jointly concave if

$$\phi(\lambda A_1 + (1 - \lambda)A_2, \lambda B_1 + (1 - \lambda)B_2) \geq \lambda \phi(A_1, B_1) + (1 - \lambda)\phi(A_2, B_2)$$

for all  $A_1, A_2 \in \mathcal{S}_I(\mathbf{H}); B_1, B_2 \in \mathcal{S}_J(\mathbf{H})$  and  $0 \leq \lambda \leq 1$ . The space  $\mathcal{L}(\mathbf{H})$  is a Hilbert space, where the inner product is defined as

$$\langle A, B \rangle = \text{tr}(A^*B),$$

$A, B \in \mathcal{L}(\mathbf{H})$ .

For our main theorem in this section, we need the following lemmas.

LEMMA 3.1. Let  $A, B \in \mathcal{P}(\mathbf{H})$ . Let  $\mathcal{A}$  and  $\mathcal{B}$  be the left and the right multiplication operators on the space  $\mathcal{L}(\mathbf{H})$  induced by  $A$  and  $B$  respectively, i.e.,

$$\mathcal{A}(X) = AX \text{ and } \mathcal{B}(X) = XB.$$

Then  $\mathcal{A}$  and  $\mathcal{B}$  are positive operators on  $\mathcal{L}(\mathbf{H})$ .

LEMMA 3.2. Let  $R_1, R_2, S_1, S_2, T_1, T_2$  be in  $\mathcal{P}(\mathbf{H})$ . Suppose  $R_1$  commutes with  $R_2$ ,  $S_1$  commutes with  $S_2$  and  $T_1$  commutes with  $T_2$ , and  $R_1 \geq \lambda S_1 + (1 - \lambda)T_1$ ,  $R_2 \geq \lambda S_2 + (1 - \lambda)T_2$ ,  $0 \leq \lambda \leq 1$ . Then for all  $0 \leq s, t; s + t \leq 1$

$$R_1^s R_2^t \geq \lambda S_1^s S_2^t + (1 - \lambda)T_1^s T_2^t.$$

*Proof.* Let  $E$  be the set of all  $(s, t); s, t \geq 0$  for which inequality

$$R_1^s R_2^t \geq \lambda S_1^s S_2^t + (1 - \lambda)T_1^s T_2^t$$

is true. Clearly  $(0, 0)$ ,  $(0, 1)$  and  $(1, 0)$  are in  $E$ , and  $E$  is closed. We shall prove that  $E$  is convex. Let  $(s_1, t_1), (s_2, t_2) \in E$ . Then

$$R_1^{s_1} R_2^{t_1} \geq \lambda S_1^{s_1} S_2^{t_1} + (1 - \lambda)T_1^{s_1} T_2^{t_1}$$

and

$$R_1^{s_2} R_2^{t_2} \geq \lambda S_1^{s_2} S_2^{t_2} + (1 - \lambda)T_1^{s_2} T_2^{t_2}.$$

Using (iii), (ii) and (i) respectively, we get

$$\begin{aligned} R_1^{(s_1+s_2)/2} R_2^{(t_1+t_2)/2} &= (R_1^{s_1} R_2^{t_1}) \# (R_1^{s_2} R_2^{t_2}) \\ &\geq (\lambda S_1^{s_1} S_2^{t_1} + (1-\lambda) T_1^{s_1} T_2^{t_1}) \# (\lambda S_1^{s_2} S_2^{t_2} + (1-\lambda) T_1^{s_2} T_2^{t_2}) \\ &\geq \lambda \{ (S_1^{s_1} S_2^{t_1}) \# (S_1^{s_2} S_2^{t_2}) \} + (1-\lambda) \{ (T_1^{s_1} T_2^{t_1}) \# (T_1^{s_2} T_2^{t_2}) \} \\ &= \lambda S_1^{(s_1+s_2)/2} S_2^{(t_1+t_2)/2} + (1-\lambda) T_1^{(s_1+s_2)/2} T_2^{(t_1+t_2)/2}. \end{aligned}$$

Therefore  $((s_1 + s_2)/2, (t_1 + t_2)/2) \in E$ . So  $E$  is convex. This proves the lemma.

**THEOREM 3.3.** *Let  $f$  and  $g$  be positive operator concave functions on  $I$  and  $J$  respectively. Let  $X \in \mathcal{L}(\mathbf{H})$  and  $s, t \geq 0$  be such that  $s + t \leq 1$ . Then the map*

$$\phi(A, B) = \text{tr}\{X^*(f(A))^s X(g(B))^t\}$$

*is jointly concave on  $\mathcal{S}_I(\mathbf{H}) \times \mathcal{S}_J(\mathbf{H})$ .*

*Proof.* Let  $A_1, A_2 \in \mathcal{S}_I(\mathbf{H})$ ;  $B_1, B_2 \in \mathcal{S}_J(\mathbf{H})$  and  $0 \leq \lambda \leq 1$ . Let  $\mathcal{A}_1, \mathcal{A}_2$  and  $\mathcal{A}$  be the left multiplication operators induced by  $f(A_1), f(A_2)$  and  $f(\lambda A_1 + (1-\lambda)A_2)$  respectively; and  $\mathcal{B}_1, \mathcal{B}_2$  and  $\mathcal{B}$  be the right multiplication operators induced by  $g(B_1), g(B_2)$  and  $g(\lambda B_1 + (1-\lambda)B_2)$  respectively. By Lemma 3.1,  $\mathcal{A}_1, \mathcal{A}_2, \mathcal{A}, \mathcal{B}_1, \mathcal{B}_2$  and  $\mathcal{B}$  are positive operators. Moreover,  $\mathcal{A}_1$  commutes with  $\mathcal{B}_1, \mathcal{A}_2$  commutes with  $\mathcal{B}_2$  and  $\mathcal{A}$  commutes with  $\mathcal{B}$ . Also, we have

$$\mathcal{A} \geq \lambda \mathcal{A}_1 + (1-\lambda) \mathcal{A}_2$$

and

$$\mathcal{B} \geq \lambda \mathcal{B}_1 + (1-\lambda) \mathcal{B}_2,$$

since  $f$  and  $g$  are operator concave on  $I$  and  $J$  respectively. Hence by Lemma 3.2,

$$\mathcal{A}^s \mathcal{B}^t \geq \lambda \mathcal{A}_1^s \mathcal{B}_1^t + (1-\lambda) \mathcal{A}_2^s \mathcal{B}_2^t$$

for  $0 \leq s, t; s + t \leq 1$ . Thus for every  $X \in \mathcal{L}(\mathbf{H})$ ,

$$\begin{aligned} \langle X, (f(\lambda A_1 + (1-\lambda)A_2))^s X(g(\lambda B_1 + (1-\lambda)B_2))^t \rangle \\ \geq \langle X, \lambda (f(A_1))^s X(g(B_1))^t + (1-\lambda) (f(A_2))^s X(g(B_2))^t \rangle \end{aligned}$$

or that

$$\begin{aligned} \text{tr}\{X^*(f(\lambda A_1 + (1-\lambda)A_2))^s X(g(\lambda B_1 + (1-\lambda)B_2))^t\} \\ \geq \lambda \text{tr}\{X^*(f(A_1))^s X(g(B_1))^t\} + (1-\lambda) \text{tr}\{X^*(f(A_2))^s X(g(B_2))^t\}. \end{aligned}$$

This completes the proof.

**COROLLARY 3.4.** *Let  $f$  and  $g$  be positive operator concave functions on  $I = (0, \infty)$ , and  $J = (0, \infty)$  respectively. Let  $X \in \mathcal{L}(\mathbf{H})$  and  $s, t \geq 0$  be such that  $s + t \leq 1$ . Then the map*

$$\psi(A, B) = \text{tr}\{X^* f(A^s) X g(B^t)\}$$

*is jointly concave on  $\mathcal{S}_I(\mathbf{H}) \times \mathcal{S}_J(\mathbf{H})$ .*

*Proof.* The proof of the corollary follows from Theorem 3.3, since the functions  $f_1(x) = (f(x^s))^{1/s}$  and  $g_1(x) = (g(x^t))^{1/t}$  are also operator concave on  $(0, \infty)$ .

*Acknowledgment.* The author would like to thank a referee for useful comments.



## REFERENCES

- [1] T. ANDO, *Topics on operator inequalities*, Lecture notes, Hokkaido University, Sapporo, 1987.
- [2] H. ARAKI, *On an inequality of Lieb and Thirring*, Letters in Math. Phys. **19** (1990), 167–170.
- [3] J. S. AUJLA AND H. L. VASUDEVA, *Some convex and monotone matrix functions*, Linear Alg. Appl. **248** (1996), 47–60.
- [4] R. BHATIA, *Matrix Analysis*, Springer Verlag, 1997.
- [5] R. BHATIA AND C. DAVIS, *A Cauchy–Schwarz inequality for operators with applications*, Linear Alg. Appl. **223** (1995), 119–129.
- [6] J. I. FUJII, M. FUJII, T. FURUTA AND R. NAKAMOTO, *Norm inequalities equivalent to Heinz inequality*, Proc. Amer. Math. Soc. **118** (1993), 827–830.
- [7] M. FUJII AND T. FURUTA, *Löwner–Heinz, Cordes and Heinz–Kato inequalities*, Math. Japon. **38** (1993), 73–78.
- [8] T. FURUTA, *Norm inequalities equivalent to Löwner–Heinz theorem*, Reviews in Math. Phys. **1** (1989), 135–137.
- [9] R. A. HORN AND C. R. JOHNSON, *Hadamard and conventional submultiplicativity for unitary invariant norms on matrices*, Linear Multilin. Alg. **20** (1987), 91–106.
- [10] F. KUBO AND T. ANDO, *Means of positive linear operators*, Math. Ann. **246** (1980), 205–224.
- [11] M. K. KWONG, *Some results on monotone matrix functions*, Linear Alg. Appl. **118** (1989), 129–153.
- [12] E. H. LIEB, *Convex trace functions and the Wigner–Yanasse–Dyson conjecture*, Avances in Math. **11** (1973), 267–288.
- [13] W. PUSZ AND S. L. WORONOWICZ, *Functional calculus for sesquilinear forms and the purification map*, Rep. Math. Phys. **8** (1975), 159–170.

(Received April 11, 2000)

Jaspal Singh Aujla  
Department of Applied Mathematics  
Regional Engineering College  
Jalandhar – 144011  
Punjab, India